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	Answer

	1.
	Subtract 8 from a number equals 25. Find the number.


	

	2.
	Divide a number by 4 equals 8. Find the number.


	

	3.
	Multiply a number by 4 and then subtract 6 from the product. The result is 10. Find the number.


	

	4.
	Add 7 to a number and then divide the sum by 5. The result is 6. Find the number.


	

	5.
	Divide 12 by a number and then add 28 to the quotient. The result is 32. Find the number.


	

	6.
	2 subtracted from 4 times a certain number is 10. Find this number. 


	

	7.
	One third of a number times 6 equals 38. Find the number. 


	

	8.
	Add 15 to a quarter of a number equals 35. Find the number.


	

	9.
	A string is x m long. If 7 m of the string is cut, 23 m remains. Find the original length of the string.


	

	10.
	If 20 students are added into a class and then the class is divided into four groups, each group will have 12 students. How many students does the class originally have?


	

	11.
	Andy’s age was three times that of Nolan last year. Andy is 22 years old now. Find the present age of Nolan. 


	

	12.
	Ken wants to share a bag of candies among 15 persons equally, but 3 of them are absent. As a result, each of the remaining persons can get 2 more candies. Find the number of candies in the bag.


	

	13.
	[image: image1.wmf] represents an apple; [image: image2.wmf] represents a pineapple.

[image: image4.png]Observe the diagram carefully, and find out the weight of an apple.


	

	14.
	A bag contains 200 coins of $2 coins and 50¢ coins. 

(a)
If there are 70 $2 coins, find the number of 50¢ coins.


(b)
the total value of these coins. 
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